Petr Kundrát The asymptotic properties of solutions of linear delay differential equations

Mathematica Slovaca, Vol. 56 (2006), No. 3, 349--360

Persistent URL: http://dml.cz/dmlcz/129338

Terms of use:

© Mathematical Institute of the Slovak Academy of Sciences, 2006

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://project.dml.cz



Mathematica

Mathematical Institute

Slovak Academy of Sciences

THE ASYMPTOTIC PROPERTIES OF SOLUTIONS OF LINEAR DELAY DIFFERENTIAL EQUATIONS

Petr Kundrát

(Communicated by Michal Fečkan)

ABSTRACT. The paper deals with the asymptotic behaviour of solutions of the delay differential equation

 $\dot{x}(t) = a(t)x(t) + b(t)x(\tau(t)) + f(t), \qquad t \in [t_0, \infty),$

where a is a positive function and the ratio |b|/a can be estimated by means of a continuous and nonincreasing function. Some known asymptotic formulae concerning this equation are improved and extended to a more general case.

1. Introduction

This paper is concerned with the nonhomogeneous linear differential equation

$$\dot{x}(t) = a(t)x(t) + b(t)x(\tau(t)) + f(t), \qquad t \in I := [t_0, \infty), \tag{1}$$

where a, b, τ, f are continuous functions. Throughout this paper we assume that functions a and b are not identically zero on I.

The asymptotic behaviour of (1) has been analysed, under various assumptions, by many authors. From papers, related to our further investigation, we can mention those by F. V. Atkinson and J. Haddock [1], H. Beretoglu and M. Pituk [2], J. Diblík [6], T. Krisztin [8], [9] and others. Particularly, our aim is to generalize the asymptotic results derived by T. Kato and J. B. McLeod [7], E. B. Lim [10] and J. Čermák [3], [4], where special cases of (1) have been considered. Papers [7] and [10] discussed the asymptotic behaviour of

$$\dot{x}(t) = ax(t) + bx(\lambda t) + f(t), \qquad 0 < \lambda < 1, \ t \ge 0.$$

 $^{2000 \} Mathematics \ Subject \ Classification: \ Primary \ 34K15, \ 34K25, \ 39B22.$

Keywords: delay differential equation, functional equation, asymptotic behaviour.

Published results were acquired using the subsidization of the Ministry of Education, Youth and Sports of the Czech Republic, research plan MSM 0021630518 "Simulation modelling of mechatronic systems".

It was shown that if a > 0, $b \neq 0$ and $f(t) = O(\exp\{a\tau(t)\})$ as $t \to \infty$, then the solution x either grows exponentially or is polynomial. These results have been generalized in [4], [3] to equations

$$\dot{x}(t) = ax(t) + bx(\tau(t)) + f(t), \qquad a > 0, \ b \neq 0, \ t \in I, \qquad (2)$$

resp.

$$\dot{x}(t) = a(t) [x(t) - kx(\tau(t))] + f(t), \qquad k \neq 0, \quad t \in I,$$

where $a \in C^0(I)$ is positive and nondecreasing on I and $\tau \in C^1(I)$, $\tau(t) < t$ for all $t \in I$, $\tau(t) \to \infty$ as $t \to \infty$, $0 < \dot{\tau} \le \lambda < 1$ on I. It follows from the assumptions on τ that considered equations have an unbounded lag. Our wish is to derive the relevant asymptotic formulae also provided a is decreasing and we do not suppose explicitly that the lag is unbounded. Moreover, we show that in some cases these formulae can be given in a more precise form.

Let us denote $I_0 := [\tau(t_0), t_0]$. As it is customary, the function x is called a solution of (1) if $x \in C^0(I_0) \cap C^1(I)$ and satisfies (1) for all $t \ge t_0$. If we are given a continuous function x_0 defined on I_0 , then there is a unique solution x of (1) such that $x \equiv x_0$ on I_0 .

2. Preliminary statements

In this section we formulate some auxiliary results, which we utilize in the proof of the main result.

PROPOSITION 2.1. ([11; Corollary 1]) Consider the functional differential equation

$$\dot{x}(t) = g(t, x(\tau(t))), \qquad t \in I = [t_0, \infty), \qquad (3)$$

where $\tau \in C^0(I)$, $\tau(t) \leq t$ on I and $\inf\{\tau(t) : t \in I\} > -\infty$. Further, let g(t,x) be a continuous function for which there exist a real C and a continuous function r fulfilling the relations

$$|g(t, x_1) - g(t, x_2)| \le r(t)|x_1 - x_2| \tag{4}$$

and

$$|g(t,0)| \le Cr(t) \tag{5}$$

for any $t \in I$ and $x_1, x_2 \in \mathbb{R}$. If

$$\int_{t_0}^{\infty} r(t) \, \mathrm{d}t < \infty \,, \tag{6}$$

then for every solution x of (3) exists a real L such that

$$x(t) \to L$$
 as $t \to \infty$.

Moreover, if

$$\int_{t_0}^{\infty} r(t) \, \mathrm{d}t < 1 \,,$$

then for every $L \in \mathbb{R}$ there exists a solution x_L of (3) defined on I such that

$$x_L(t) \to L$$
 as $t \to \infty$.

LEMMA 2.2. Consider the functional differential equation (1), where $a, b, \tau, f \in C^0(I), \tau$ is subject to the same assumptions as in Proposition 2.1, $f(t) = O\left(|b(t)| \exp\left\{\int_{t_0}^{\tau(t)} a(s) \, \mathrm{d}s\right\}\right)$ as $t \to \infty$ and the integral $\int_{t_0}^{\infty} |b(t)| \exp\left\{-\int_{\tau(t)}^{t} a(s) \, \mathrm{d}s\right\} \, \mathrm{d}t$

converges. If x is a solution of (1), then there exists a real constant L such that

$$\exp\left\{-\int_{t_0}^t a(s) \,\mathrm{d}s\right\} x(t) \to L \qquad as \quad t \to \infty.$$
(7)

Conversely, for every $L \in \mathbb{R}$ there exists solution x_L of (1) such that

$$\exp\left\{-\int_{t_0}^t a(s) \, \mathrm{d}s\right\} x_L(t) \to L \qquad as \quad t \to \infty.$$
(8)

Proof. Setting

$$z(t) = \exp\left\{-\int_{t_0}^t a(s) \,\mathrm{d}s\right\} x(t) \tag{9}$$

into the equation (1) we get

$$\dot{z}(t) = b(t) \exp\left\{-\int_{\tau(t)}^{t} a(s) \, \mathrm{d}s\right\} z(\tau(t)) + f(t) \exp\left\{-\int_{t_0}^{t} a(s) \, \mathrm{d}s\right\}.$$
 (10)

Equation (10) is equation (3) with

$$g(t, z(\tau(t))) = b(t)z(\tau(t)) \exp\left\{-\int_{\tau(t)}^{t} a(s) \,\mathrm{d}s\right\} + f(t) \exp\left\{-\int_{t_0}^{t} a(s) \,\mathrm{d}s\right\}.$$

Further, put $r(t) = |b(t)| \exp\left\{-\int_{\tau(t)}^{t} a(s) \, \mathrm{d}s\right\}$. Then it is easy to check that the

relations (4), (5) and (6) are satisfied. Hence, using the backward substitution in (9) our assertion follows from Proposition 2.1. $\hfill \Box$

PROPOSITION 2.3. Let $a \in C^0(I)$, $\tau \in C^1(I)$, $\tau(t) < t$, $\tau(t) \to \infty$ as $t \to \infty$ and let the relation

$$0 < a(\tau(t))\dot{\tau}(t) \le \delta a(t) \tag{11}$$

hold for a suitable real $0 < \delta < 1$ and all $t \in I$. Then

$$\lim_{t \to \infty} \int_{\tau(t)}^t a(s) \, \mathrm{d}s = \infty \, .$$

Proof. First we show that $a(t) \ge m\dot{\rho}(t)/(\rho(t))^{\alpha}$ for all $t \in I$, where m > 0 and $0 < \alpha < 1$ are suitable reals and $\rho \in C^1(I)$ is fulfilling the functional relation $\rho(\tau(t)) = \lambda \rho(t)$ with a suitable real $0 < \lambda < \delta$. Let $a(t) \ge m\dot{\rho}(t)/(\rho(t))^{\alpha}$ for all $t \in [\tau(t_0), t_0]$ and

$$\alpha = \left(\log(\lambda/\delta) \right) / \log \lambda < 1 \, .$$

Then for all $t \in [t_0, \tau^{-1}(t_0)]$ we get

$$a(t) \ge \frac{a(\tau(t))\dot{\tau}(t)}{\delta} \ge m\frac{\dot{\rho}(\tau(t))\dot{\tau}(t)}{\left(\rho(\tau(t))\right)^{\alpha}\delta} = m\frac{\lambda\dot{\rho}(t)}{\lambda^{\alpha}\left(\rho(t)\right)^{\alpha}\delta} = m\frac{\dot{\rho}(t)}{\left(\rho(t)\right)^{\alpha}}$$

Repeating this procedure we get

$$a(t) \ge m rac{\dot{
ho}(t)}{\left(
ho(t)
ight)^{lpha}} \qquad ext{for all} \quad t \in I \,.$$

Using this we have

$$\int_{\tau(t)}^{t} a(s) \, \mathrm{d}s \ge m \int_{\tau(t)}^{t} \frac{\dot{\rho}(s)}{\left(\rho(s)\right)^{\alpha}} \, \mathrm{d}s = \frac{1-\lambda^{1-\alpha}}{1-\alpha} \left(\rho(t)\right)^{1-\alpha}.$$

Since $\rho(t) \to \infty$ as $t \to \infty$ (this fact follows from assumptions on τ) and $\alpha < 1$, we have

$$\lim_{t \to \infty} \int_{\tau(t)}^{t} a(s) \, \mathrm{d}s = \infty \,.$$

The next functional equation plays the key role in our further asymptotic investigations. Let us consider

$$\varphi(t) = c(t)\varphi(\tau(t)), \qquad t \in I, \qquad (12)$$

where c is a continuous function depending on a and b. The following simple statement ensures the existence of a solution of (12) with required properties.

PROPOSITION 2.4. Consider the functional equation (12) where $c, \tau \in C^0(I)$, c(t) > 0, $\tau(t) < t$ for all $t \in I$ and τ is increasing on I. Let $\varphi_0 \in C^0(I_0)$, where $I_0 := [\tau(t_0), t_0]$, be a positive function satisfying

$$\varphi_0(t_0) = c(t_0)\varphi\big(\tau(t_0)\big)\,.$$

Then there exists a unique positive solution $\varphi \in C^0(I)$ of (12) such that $\varphi(t) = \varphi_0(t)$ for every $t \in I_0$.

Proof. The statement can be proved by the step method.

LEMMA 2.5. Consider the functional differential equation

$$\dot{x}(t) = a(t)x(t) + b(t)x(\tau(t)), \qquad t \in I = [t_0, \infty),$$
(13)

where $a, b \in C^0(I)$, $\tau \in C^1(I)$, a(t) > 0, $\tau(t) < t$ for all $t \in I$, $\tau(t) \to \infty$ as $t \to \infty$ and let there exist a nonincreasing function $c \in C^0(I)$ such that $|b(t)| \leq c(t)a(t)$ for all $t \in I$. Further assume that the relation (11) is valid for a suitable real $0 < \delta < 1$ and arbitrary $t \in I$ and let $\varphi \in C^0(I)$ be a positive solution of (12). If x is a solution of (13) fulfilling

$$\exp\left\{-\int_{t_0}^t a(s) \, \mathrm{d}s\right\} x(t) \to 0 \qquad as \quad t \to \infty \,, \tag{14}$$

then $x(t) = O(\varphi(t))$ as $t \to \infty$.

Proof. First, let us denote

 $t_n := \tau^{-n}(t_0)$ and $I_{n+1} := [t_n, t_{n+1}], \quad n = -1, 0, 1, \dots$

From (12) we get

$$\begin{split} \varphi(t) &= c(t)\varphi\big(\tau(t)\big) = c(t)c\big(\tau(t)\big)\varphi\big(\tau^2(t)\big) = \cdots \\ &= c(t)c\big(\tau(t)\big)c\big(\tau^2(t)\big)\cdots c\big(\tau^n(t)\big)\varphi_0\big(\tau^{n+1}(t)\big) \\ &\geq M_0c(t)c\big(\tau(t)\big)\cdots c\big(\tau^n(t)\big) \quad \text{for any} \quad t \in I_{n+1} \,, \end{split}$$
(15)

where $M_0 = \min_{t \in I_0} \varphi(t)$. The relation (15) will be used in the end of the proof.

Now let us multiply the equation (13) by the term $\exp\left\{-\int_{t_0}^t a(s) \, \mathrm{d}s\right\}$ to get

$$\frac{\mathrm{d}}{\mathrm{d}t} \left[\exp\left\{-\int_{t_0}^t a(s) \, \mathrm{d}s\right\} x(t) \right] = b(t) \exp\left\{-\int_{t_0}^t a(s) \, \mathrm{d}s\right\} x(\tau(t)) \, .$$

Since the relation (14) is assumed, integrating the previous equality over $[t,\infty)$ we obtain

$$-\exp\left\{-\int_{t_0}^t a(s) \,\mathrm{d}s\right\} x(t) = \int_t^\infty b(u) \exp\left\{-\int_{t_0}^u a(s) \,\mathrm{d}s\right\} x(\tau(u)) \,\mathrm{d}u \,.$$

Hence, the following inequality is valid for all $t \ge t_0$:

$$|x(t)| \le \exp\left\{\int_{t_0}^t a(s) \, \mathrm{d}s\right\} \int_t^\infty |b(u)| \exp\left\{-\int_{t_0}^u a(s) \, \mathrm{d}s\right\} |x(\tau(u))| \, \mathrm{d}u \,. \tag{16}$$

Now let M be a suitable positive real such that

$$|x(t)| \le M \exp\left\{ \int_{t_0}^t a(s) \, \mathrm{d}s
ight\} \qquad ext{for all} \quad t \ge t_0 \, .$$

Using (16) we derive the following estimate of x(t) valid for all $t \ge t_1$:

$$\begin{split} |x(t)| &\leq \exp\left\{\int_{t_0}^t a(s) \, \mathrm{d}s\right\} \int_{t}^{\infty} |b(u)| \exp\left\{-\int_{t_0}^u a(s) \, \mathrm{d}s\right\} |x(\tau(u))| \, \mathrm{d}u \\ &\leq \exp\left\{\int_{t_0}^t a(s) \, \mathrm{d}s\right\} \int_{t}^{\infty} |b(u)| \exp\left\{-\int_{t_0}^u a(s) \, \mathrm{d}s\right\} M \exp\left\{\int_{t_0}^{\tau(t)} a(s) \, \mathrm{d}s\right\} \, \mathrm{d}u \\ &= M \exp\left\{\int_{t_0}^t a(s) \, \mathrm{d}s\right\} \int_{t}^{\infty} c(u)a(u) \exp\left\{-\int_{\tau(u)}^u a(s) \, \mathrm{d}s\right\} \, \mathrm{d}u \\ &= M \exp\left\{\int_{t_0}^t a(s) \, \mathrm{d}s\right\} \times \\ &\qquad \times \int_{t}^{\infty} \frac{c(u)a(u)}{-a(u) + a(\tau(u))\dot{\tau}(u)} \frac{\mathrm{d}}{\mathrm{d}u} \left(\exp\left\{-\int_{\tau(u)}^u a(s) \, \mathrm{d}s\right\}\right) \, \mathrm{d}u \, . \end{split}$$

ASYMPTOTIC PROPERTIES OF SOLUTIONS OF LINEAR DIFFERENTIAL EQUATIONS

Using Proposition 2.3 and the fact that c is nonincreasing we get

$$\begin{aligned} |x(t)| &\leq \frac{Mc(t)}{1-\delta} \exp\left\{\int_{t_0}^t a(s) \, \mathrm{d}s\right\} \int_{t}^{\infty} -\frac{\mathrm{d}}{\mathrm{d}u} \left(\exp\left\{-\int_{\tau(u)}^u a(s) \, \mathrm{d}s\right\}\right) \, \mathrm{d}u \\ &= \frac{Mc(t)}{1-\delta} \exp\left\{\int_{t_0}^t a(s) \, \mathrm{d}s\right\} \exp\left\{-\int_{\tau(t)}^t a(s) \, \mathrm{d}s\right\}. \end{aligned}$$

Hence

$$|x(t)| \le \frac{Mc(t)}{1-\delta} \exp\left\{ \int_{t_0}^{\tau(t)} a(s) \, \mathrm{d}s \right\}, \qquad t \ge t_1.$$

$$(17)$$

Now we derive the analogous estimate for all $t \ge t_2$. Substituting the estimate (17) in (16) we get

Using the same procedure as above we can derive the following estimate of x(t) for all $t \ge t_n$, n = 1, 2, ...:

$$|x(t)| \leq \frac{Mc(t)c(\tau(t))\cdots c(\tau^{n-1}(t))}{(1-\delta)(1-\delta^2)\cdots(1-\delta^n)} \exp\left\{\int_{t_0}^{\tau^n(t)} a(s) \, \mathrm{d}s\right\}.$$

Now, it is easy to see that for n = 1, 2, 3... it holds that

$$\exp\left\{\int_{t_0}^{\tau^n} a(s) \, \mathrm{d}s\right\} \le \exp\left\{\int_{t_0}^{t_1} a(s) \, \mathrm{d}s\right\} \le M_1 \qquad \text{for all} \quad t \le t_{n+1} \,,$$

where $M_1 > 0$ is a real constant. If we put

$$M^* := \frac{M_1 M}{\prod\limits_{j=1}^n (1-\delta^j)} \,,$$

then we can write

 $|x(t)| \leq M^* c(t) c\big(\tau(t)\big) \cdots c\big(\tau^{n-1}(t)\big) \quad \text{ for all } t \in I_n, \ n=1,2,3,\ldots.$ Now using the relation (15) we have

$$|x(t)| \leq \frac{M^+}{M_0 c(\tau^n(t))} \varphi(t) \quad \text{for all} \quad t \in I_n, \ n = 1, 2, 3, \dots$$

Since c is nonincreasing, we get

$$|x(t)| \leq rac{M^*}{M_0 c(t_1)} arphi(t) \qquad ext{for all} \quad t \in I_n \,, \ \ n=1,2,3,\dots$$

and the lemma is proved.

3. The main result and some consequences

Summarizing the preliminary results we can formulate the asymptotic description of all solutions of (1). In accordance with Lemma 2.2 we denote by x_L a particular solution of (1) possessing the property (8) for a given arbitrary real L.

THEOREM 3.1. Consider equation (1), where $a, b, f \in C^0(I), \tau \in C^1(I), a(t) > 0, \tau(t) < t$ for all $t \in I, \tau(t) \to \infty$ as $t \to \infty$,

....

$$f(t) = O\left(|b(t)| \exp\left\{\int_{t_0}^{\tau(t)} a(s) \, \mathrm{d}s\right\}\right) \qquad as \quad t \to \infty$$

and let there exist a nonincreasing function $c \in C^0(I)$ such that $|b(t)| \leq c(t)a(t)$ for all $t \in I$. Further assume that the relation (11) is valid for a suitable real $0 < \delta < 1$ and arbitrary $t \in I$ and let $\varphi \in C^0(I)$ be a positive solution of (12). If x is a solution of (1), then there exists a real constant L such that

$$x(t) = x_L(t) + O(\varphi(t))$$
 as $t \to \infty$.

 ${\rm P}\ {\rm r}\ {\rm o}\ {\rm o}\ {\rm f}$. First we verify that all the assumptions of Lemma 2.2 are valid. Indeed,

$$\begin{split} \int_{t_0}^{\infty} |b(t)| \exp\left\{-\int_{\tau(t)}^{t} a(s) \, \mathrm{d}s\right\} \, \mathrm{d}t \\ &\leq c(t_0) \int_{t_0}^{\infty} a(t) \exp\left\{-\int_{\tau(t)}^{t} a(s) \, \mathrm{d}s\right\} \, \mathrm{d}t \\ &= c(t_0) \int_{t_0}^{\infty} \frac{a(t)}{-a(t) + a(\tau(t))\dot{\tau}(t)} \frac{\mathrm{d}}{\mathrm{d}t} \left[\exp\left\{-\int_{\tau(t)}^{t} a(s) \, \mathrm{d}s\right\}\right] \, \mathrm{d}t \\ &\leq c(t_0) \frac{1}{1-\delta} \exp\left\{-\int_{\tau(t_0)}^{t_0} a(s) \, \mathrm{d}s\right\} < \infty \end{split}$$

by use of Proposition 2.3.

Now let x be a solution of (1). In accordance with Lemma 2.2 there exists a constant L such that (7) holds. Then $y(t) = x(t) - x_L(t)$ is a solution of the homogeneous equation

$$\dot{y}(t) = a(t)y(t) + b(t)y(\tau(t)), \qquad t \in I,$$

fulfilling the relation

$$\exp\left\{-\int\limits_{t_0}^t a(s) \,\mathrm{d}s
ight\}y(t) o 0 \qquad \mathrm{as} \quad t o \infty\,.$$

Hence, using Lemma 2.5, we have $y(t) = O(\varphi(t))$ as $t \to \infty$, i.e., $x(t) = x_L(t) + y(t) = x_L(t) + O(\varphi(t))$ as $t \to \infty$.

Remark 3.2. In a more general way, any solution φ^* of the inequality

$$\varphi^*(t) \ge c(t)\varphi^*(\tau(t)), \qquad t \in I,$$
(18)

can be considered instead of a solution φ of equation (12) occurring in Theorem 3.1. Then the assertion of Theorem 3.1 can be proved using the same line of arguments as it has been done previously.

In the remaining part of this paper we show that Theorem 3.1 generalizes some known asymptotic results. In these particular cases we consider also delays intersecting the identity function at the initial points. It is easy to see that the result of Theorem 3.1 holds also for this case.

If we put $a(t) \equiv a > 0$, $b(t) \equiv b \neq 0$ and $\tau(t) = \lambda t$, $0 < \lambda < 1$, then we have:

COROLLARY 3.3. Consider the equation

$$\dot{x}(t) = ax(t) + bx(\lambda t) + f(t), \qquad 0 < \lambda < 1, \quad t \ge 0,$$
(19)

where a > 0, $b \neq 0$ are constants, $f \in C^0([0,\infty))$ and let $f(t) = O(\exp\{a\lambda t\})$ as $t \to \infty$. Then for any $L \in \mathbb{R}$ there exists a solution x_L of (19) such that

 $\exp\{-at\}x_L(t)\to L \qquad as \quad t\to\infty\,.$

Moreover, for any solution x of (19) there exists a suitable $L \in \mathbb{R}$ such that

$$x(t) = x_L(t) + O(t^{\alpha})$$
 as $t \to \infty$, $\alpha = \frac{\ln(a/|b|)}{\ln \lambda}$

Proof. The proof follows immediately from Theorem 3.1, where $c(t) \equiv c = |b|/a$ and $\varphi(t) = t^{\alpha}$, $\alpha = \frac{\ln(a/|b|)}{\ln \lambda}$.

Remark 3.4. This statement was published in a weaker form in [10], resp. [7]. Its generalization to equation (2) with a more general form of a delay has been done in [4] and also in [5], where equation (1) with b(t) = ka(t), $k \neq 0$, has been considered. We emphasize, that the key assumption in [3] is a nondecreasing. The following example illustrates that Theorem 3.1 works also for the case a decreasing.

EXAMPLE 3.5. Consider the equation

$$\dot{x}(t) = \frac{1}{t} \left[x(t) - x(\sqrt{t}) \right] + f(t), \qquad t \ge 1,$$
(20)

where $f \in C^0([1,\infty))$ and $f(t) = O(1/\sqrt{t})$ as $t \to \infty$. It is easy to verify that all assumptions of Theorem 3.1 are fulfilled. Then for any $L \in \mathbb{R}$ there exists a solution x_L of (20) such that

 $x_L(t)/t \to L$ as $t \to \infty$.

Moreover, for any solution x of (20) there exists $L \in \mathbb{R}$ such that

$$x(t) = x_L(t) + O(1)$$
 as $t \to \infty$.

The following example demonstrates the case when solving of the corresponding functional equation (12) is not trivial. EXAMPLE 3.6. Consider the equation

$$\dot{x}(t) = ax(t) + \frac{b}{t}x(\lambda t) + f(t), \qquad 0 < \lambda < 1, \ t \ge 1,$$
(21)

where a > 0, $b \neq 0$ are reals, $f \in C^0([1,\infty))$ and let $f(t) = O(\frac{1}{t}\exp\{a\lambda t\})$ as $t \to \infty$. Then in accordance with Theorem 3.1, for any $L \in \mathbb{R}$ there exists a solution x_L of (21) such that

$$\exp\{-at\}x_L(t) \to L \quad \text{as} \quad t \to \infty.$$

Now it is easy to check that functional equation (12) has the form

$$\varphi(t) = \frac{|b|}{at}\varphi(\lambda t)$$

and admits the solution

$$\varphi(t) = t^{\frac{\log|b|/a}{\log \lambda^{-1}} - \frac{1}{2}\left(\frac{\log t}{\log \lambda^{-1}} + 1\right)},$$

which is the function tending to zero as $t \to \infty$. Hence, by Theorem 3.1, for any solution x of (21) there exists $L \in \mathbb{R}$ such that

$$x(t) = x_L(t) + O\left(t^{\frac{\log|b|/a}{\log \lambda - 1} - \frac{1}{2}\left(\frac{\log t}{\log \lambda - 1} + 1\right)}\right) \quad \text{as} \quad t \to \infty \,.$$

Acknowledgement

The author would like to thank the referee for his valuable remarks.

REFERENCES

- ATKINSON, F. V.—HADDOCK, J. R.: Criteria for asymptotic constancy of solutions of functional differential equations, J. Math. Anal. Appl. 91 (1983), 410–423.
- [2] BERETOGLU, H.—PITUK, M.: Asymptotic constancy for nonhomogeneous linear differential equations with unbounded delays, Discrete Contin. Dyn. Syst. (A Suppl. Vol. for the Wilmington Meeting 2002) (2003), 100–107.
- [3] ČERMÁK, J.: Asymptotic behaviour of solutions of some differential equations with an unbounded delay. In: Electron. J. Qual. Theory Differ. Equ. 2000, Suppl. Proc. 6th Colloq. QTDE 2, 2000, pp. 1–8.
- [4] ČERMÁK, J.: A change of variables in the asymptotic theory of differential equations with unbounded delays, J. Comput. Appl. Math. 143 (2002), 81–93.
- [5] ČERMÁK, J.-KUNDRÁT, P.: Linear differential equations with unbounded delays and a forcing term, Abstr. Appl. Anal. 4 (2004), 337-345.

- [6] DIBLÍK, J.: Asymptotic representation of solutions of equation $\dot{y}(t) = \beta(t) [y(t) y(t \tau(t))]$, J. Math. Anal. Appl. 217 (1998), 200–215.
- [7] KATO, T.—MCLEOD, J. B.: The functional differential equation $y'(x) = ay(\lambda x) + by(x)$, Bull. Amer. Math. Soc. **77** (1971), 891–937.
- [8] KRISZTIN, T.: A note on the convergence of the solutions of a linear functional-differential equation, J. Math. Anal. Appl. 145 (1990), 17-25.
- [9] KUNDRÁT, P.: On asymptotic properties of solutions of the difference equation $\Delta x(t) = -ax(t) + bx(\tau(t))$. In: Proceedings of ICDEA Conference 2003, Brno Proceedings of the 8th International Conference on Difference Equations and Applications (ICDEA 2003), Masaryk University, Brno, Czech Republic, July 28-August 1, 2003. (S. Elaydi et al., eds.), Chapman & Hall/CRC, Boca Raton, FL, 2005, pp. 193-200.
- [10] LIM, E. B.: Asymptotic bounds of solutions of the functional differential equation $x'(t) = ax(\lambda t) + bx(t) + f(t), \ 0 < \lambda < 1$, SIAM J. Math. Anal. 9 (1978), 915–920.
- [11] PITUK, M.: On the limits of solutions of functional differential equations, Math. Bohem. 118 (1993), 53-66.

Received July 12, 2004 Revised November 2, 2004 Institute of Mathematics FME BUT Technická 2 CZ-616 69 Brno CZECH REPUBLIC

E-mail: kundrat@fme.vutbr.cz